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1. Introduction

The remaining text describing some BSS LCLS capability indication should be deleted.
2. Reason for Change

The remaining text about BSS LCLS capability indication should be deleted.

3. Conclusions

<Conclusion part (optional)>

4. Proposal

It is proposed to agree the following changes to 3GPP TS 23.889, version 1.3.0.

* * * First Change * * * *

8.2.2
LCLS Negotiation within CN: Solution without CN signalling

8.2.2.1
Technical Description for LCLS without CN signalling

In this solution both oMSC-Server and tMSC-Server tell the BSS about their individual LCLS capability and their individual LCLS requirements in the Assignment Request message. There would not be any additional signalling between the MSC-Servers regarding LCLS negotiation. The combining of all necessary information is only performed within the BSS, which controls both call legs.
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Figure 8.2.2.1.1: Solution without CN signalling; only on the A-Interfaces, not on Nc
8.2.2.2
Pros and Cons for LCLS Negotiation without CN signalling

Pros:

-
The advantage of this option is the simplicity on the Nc-Interface.

Cons:

-
Neither oMSC-Server nor tMSC-Server has a complete overview concerning LCLS capabilities and status in the core network. They do not know in the first phase that the identical BSS is used on both call legs. They are sometimes informed later by the BSS that LCLS is feasible and/or established. Especially when the case with more than two MSC-Server's in the call path is considered, it becomes obvious that this solution is not feasible. 

Therefore this CN-solution is not followed up further.
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